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Answers

Ex. 52

1. 45

2. 91

3. 102

4. 78

5. 102

6. 117

7. 119

8. 96

9. 126

10. 90

Use the distributive property to solve each problem.

Ex) 4 × 13 = (4 × 6) + ( 4 × 7 )
=

5224 + 28

1) 15 × 3 = (6 × 3) + ( 9 × 3 )
=

4518 + 27

2) 7 × 13 = (7 × 4) + ( 7 × 9 )
=

9128 + 63

3) 6 × 17 = (6 × 9) + ( 6 × 8 )
=

10254 + 48

4) 13 × 6 = (5 × 6) + ( 8 × 6 )
=

7830 + 48

5) 6 × 17 = (6 × 9) + ( 6 × 8 )
=

10254 + 48

6) 13 × 9 = (5 × 9) + ( 8 × 9 )
=

11745 + 72

7) 7 × 17 = (7 × 7) + ( 7 × 10 )
=

11949 + 70

8) 16 × 6 = (6 × 6) + ( 10 × 6 )
=

9636 + 60

9) 14 × 9 = (8 × 9) + ( 6 × 9 )
=

12672 + 54

10) 5 × 18 = (5 × 9) + ( 5 × 9 )
=

9045 + 45
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